MATHEMATICS
| Third (c) Paper
(Numerlcal Analysis and Programmmg in 'C")
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- Time Allewed " Three Hours & M.M.:50
‘ ' | Part-A (ATT—31)
Evalute : ‘Atan’ x. o ST B : Atans )
Define interpolation: 3<Ta¥M 61 TRGMLITREY |
Write a relation between ordinary and-divided differences.
[reRoT a9 fawfe oy W weere fofag |
4. Write the Bessel interpolatiofi-formula. S AT G f—z:fﬁgq |
Write-the Simpson's 3/8th rule. R &1 @resy fFrm fRay |
Show that theoot of the equation x* -9x + 1=0lie between x =2 and
x=4. ﬁmﬁﬁimf-9x+l-0$q\a X=2 9dx= 4%%
. fEmE €l
1 Write the'methods for fmdmg the initial approximate value of a root.
, W%WWWWW@WW. |
8. Whit js-4 stream? T &1 &7
9. Defire switch statement. R a1 B oRIRT a?rﬁrm .
10. Write 3-rules regarding functions. WelHl & 3 WY RRaw |

Part-B (AR1—9)
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11.

12,

' :13.

14.

15.

16.

Use {he method of separation of sj'mbols to prove the identity :
YIB! Bl AR P B Ry & wdafie o s A

/

Find value of {5) from the following table :

U + Ul‘!x + LS +..=¢ {
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Apply central difference formula to obtain Y,,- Given that :

| S SR O B TN @Ry, A S DI

¥,5=.0.2707, y,;=0.3027, y, = 0.3386, y,,= 0.3794 -
Find the derivative of Ax) at x = 0.4fremthe following table :
frefifaa TR ¥ fx) B x = 04 TTSaDHers Sid BTy -

Ty
0.1 1.10517

0.2 1.22140
0.3 1.34986

0.4 1.49182 -

-Write a program to calculate sum of series :
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X
1 2 3
fafee -
Part-C (A1)
Unit-1 (F5E-1)
Obtain the missing terms in the following table :
- ﬁﬁmo?rﬁ-eggwaamzﬁm :
| X fx
1 1
2 8
3 ?
4 64
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17.

18. -

?

216
343
512

0 W

. Or
Find the number of workers getting wages between Rs. 10 and 15
from the following table : fF=feiRad GRUN & 10 T2 15 ©IT B

9T ASIGA U 91T AOIGRT Y AT S PIe |

Wages (F97g%l)  Frequency (3M3R)

0-109 |

10-20 30 .

20-30 35 -

30-40 42 . _ ,
Unit-II (S®15-10) ’

n

o b- N
Prove : _(‘Z_/(x)dx: ?é [AD) +4ftx) + 2f e ... +b)] and estimate

-

| . d A D
of error for |, - given that /Jog & 0.69315.

Jo o
Find the'real root of the equation xlog  x~1.2 = 0 correct five pl aces
of decimal. FHIFRT xlog,, x~1.2'= 0 & Tl BT 5 Tee Tt T
AMET BT | - |
Unit-NI (ST$—111)
Write a program of calculate trans ' i '
dte lranspose matrix of given matrix.
ﬁrﬁrﬁ@mmqﬁaﬁﬁmmmmmml
. Or . -
Brief the String fimctior and how will you compare themn.

ﬁﬁﬂwaﬁﬁmmqammzﬂmﬁmn
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